INSTALLATION GUIDE
Honda™ Talon Mount Kit: #6605

Fitment:
Installs driver and passenger ADS-1 seats into Honda™ Talon
models 2019 - current.

PARTS INCLUDED

1 Ea L&R Driver Side Brackets

1 Ea L&R Passenger side Brackets

8 5/16” Carriage Bolts 8 5/16”-18 Nyloc Nuts
8 5/16” Flat Washers 8 5/16” Push Nuts

TO ENSURE YOUR SAFETY AND THE SAFETY OF OTHERS AND
AVOID PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTEN-
TION TO ALL INSTRUCTIONS, WARNINGS, CAUTIONS AND
ATTENTION NOTES REGARDING THE USE AND CARE OF THIS
PRODUCT.

NOTE: STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN
ORDER TO USE THE PRODUCT PROPERLY AND AVOID POTEN-
TIALLY DANGEROUS ACCIDENTS

STEP 1 Slide the stock driver seat into its forward position and pull up
firmly on the base to remove and expose the frame.

STEP 2 Grab your 12mm socket and ratchet, and remove the four
nuts holding the frame to the floor and carefully lift driver frame
assembly from the vehicle (figure 1).

MEED.

OFF-FOFA0

STEP 5 Place the driver seat onto the assembled brackets, guiding
each carriage bolt into corresponding hole on each angle bracket
and place a washer and lock-nut on each. Leave loose until all four
are started, then tighten securely (figure 5).

STEP 3 Install driver side angle brackets. Position as shown (figure
2), and re-install nuts removed in step 2.

STEP 4 Insert four carriage bolts into bottom of seat frame as
shown (figure 3) followed by a push nut (use socket to push on),
making sure the square shoulder of the carriage bolt engages the
slot in the seat frame cross-bar (figure 4).

www.ampedoffroad.com

STEP 6 As in step 1, remove passenger seat by pulling up firmly on
the base assembly to expose the frame. Using a straight blade
screwdriver, gently work the center pin up from each front cover
clip (figure 6). With the clips removed, firmly pull straight up on
each front cover to remove (figure 7).

Alpharetta, GA 30022 (770) 880 7904

=}
g
K]
o
2
=1
g
2
s]
@
=
<
o
8
3
8



INSTALLATION GUIDE
Honda™ Talon Mount Kit: #6605

MEED.

OFF-FOA0

figure 11

STEP 7 Remove the two rear and two front nuts as indicated and STEP 11 Repeat the installation of the carriage bolts and push nuts

lift out passenger seat (figure 8). outlined in STEP 4 then repeat the procedure from STEP 5 to
mount the passenger side.

STEP 8 Position passenger side brackets as shown (note that the

brackets are stamped left and right and the stamped arrows STEP 12 Verify that all fasteners have been thoroughly tightened,

should point to the front of the car) studs into holes at the back, then enjoy your new Amped ADS-1 Seats!

inside of OEM studs (figure 9).

STEP 9 Re-install the 2 front OEM nuts removed in Step 7.
STEP 10 From underneath the rear of the car, install washers and

lock nuts onto each of the rear studs-note locations indicated
(figures 10 & 11).

www.ampedoffroad.com

6605-790 Amped Off-Road Inc. 100 Dover Cliff Way Alpharetta, GA 30022 (770) 880 7904



	6605-790 P1
	6605-790 P2

